2=l
- E L
HITR

g

/K
/./// A
\
4

)
g

O\ T
s
IR e N |
Il
i\
/ 1
=]
Il

S o
SIS S
.«‘““:‘“ ‘\6““
»"“:‘“ “Q“
>
.‘«“:“;‘:‘“““ ““\\‘“
DS o
4 ,e;«;;»‘“ s
\ <
) S s> |
S <>
& &
0
o
J
/

G5 &
a5 5
5 4




F E Tk 29 FE

I % % |FH29EE ERFEABERIE
BB 4

i IWEimAY BEE-TH #A
&4 F o\

] R S

HEES 2 1

=

%
Al

=i

=
=]

mEEA

[ /IR

E

y

JtRIEEE S

o o
) Sm=EimaEE--RE=SRE==EE==SSs=i==NE==EE=sNE=sSE-—EE--NN-=EE==EE=aEE-—=a-—mec E
N =
| TEEEIS R |
N mmrE e e = mmESAREm==ssssssaSSassSEE A 1
H
£ f
X H
3 H
£ i g
N L i
_ [ f
= ans2 j
TAIIMMERE GEEREDQR)
A=2.0x9.5=19. 0m2 H
H
|
]
.............. ) o
Q0J0] ® R
) LITT]
s/
B
TRITH MRS (GEEED)
FREEHEME A=6.3m2 (CADRII= & 3)
TRITMERSE (EREB)
RBI~RLIFRE A=1,140.0m2
EET~LBI, TREE A=178. 0n2 F &
(CADRFI= & 3) =
15 . .
P o g o : -~
T
:@ [
i
|
i
268 ] : N
i
|
L " ’ ;
|
i
|
|
\J e
(35 L
L=5.0x 28+2. 5% 13=172.5m ®
®
108

’ X

‘ (ness ez %] ‘ ‘

T T T e T S e T Ty e T T O S L Lo T T T T

e R .=,

GV Y et

B
]

?m\m\m\m\mxmvm\m\m\m\m\m\mv

H284F FEE T 3% c{,

28428,

TFRAI7I b (BEE5)

Edi]E

$=1:20

REL : OBEFHEA (13F) t=3cm

HEL : OBEARKEAs (20) t=5cm

570

390

Si=—
8 BEL : OIARE (0-20) t=100m
g HLIMHIE - BERE (RC-40) t=20cm
GI_

£ AL - BA t=19cn

TFAI77I LEE (GBIRE)

EedoilE

50

-

$=1:20

REL : OBLFEHEAs (13F) t=5cm

THEEE : BRDOMEMEL
BREBOWEMEFY (0-20) FEt=3cn

EIE R 5 R

$=1:50

2500

5000

\—.ﬁi%ﬁ (W=150) &mast




g E FH 29 FE

I % % |FR29EE ERFEABERIE
B % A

I &R BhEIHAF BEEH-TH #RA
&4 AR - EER

# R $=1:300

HEES 2 E 2

h R

il

T T e T T T T o e e T T T T T e e T e T T e T T T e T e T e T e T T e T T e e T T T T T T T C (e T T T T T T T e (e T T e T T T T T T T

=

& K

$=1:300

JtRIEEE S

MM

$=1:300

L)

46000
5000 33000 8000
S S 5
RS X X
39,982 40.085 40.084 40.082 39.973
[GECELTEESIN
way 20 .36,
N
D=3 000
D=3 000
(O]
45000
2500, 35500 7000
D
<
Q N, K‘\/ W
e © © S
40.077 40.073 40.069 39.915
e 2208
e B _
DL=3B000
a2
19000
7000 12000
39.997 40.073 39.903
1.09% / 1.42% /
— —
DL=3B000

° _ ®
| H
) H MEEEIS R E
2 |
2 g |
g f
3 - - |
- | |
| : |
]@E@* MM'%‘—'--_,NM P — .
®
e
, — B ® ®00 [<] . °
f | 8 i (= —— %
| |
2 | | |
[
|@’ 8000
BT BB ME
®
T
=
N
1 — b— i =l
) I =
2500, 35500 7000
| T No. 2
I I YA ———
(i
H
H 264
i
B
i
N | .
I i =
e g F
E H
A i .@’ B
) ‘B B
£ ] [
| [rowmiszs] g
K@ stz
N | .
i
f y
| 268+28
o
@ i
! _
E ,--—_
i
® H
D .
7 [}
H
. N ]
7 i
b | B
5 |
H
E If
5 I}
B ’ |
: |
7 mgiuniins guafgunil
E. e L L II1‘"lIlllllllIllll!lll!lll-lll-lllilll TTOTL O
E [mI mugsuiins] malln
oA R T T waans "
i'iil el mi
o]

RGO

8000

DL=38. 000

40. 066 30,986
} 1.00% ’/




